
Agrometer a/s Fælledvej 10 • 7200 Grindsted • Tlf. 76 72 13 00 • Fax 76 72 13 98
www.agrometer.dk • agrometer@agrometer.dk

Reservedele Doda

Reservedele AFI L 35:

Pos. Varebetegnelse Varenr.

1 Kniv 23573010

2 Låsemøtrik M10 (12) 132602010

3 Skive M10 (8) 132601110

4 Alu skive (8) 23573040

5 Bolt M10x30 (12) 132610030

6 Modskær (2) 23573060

7 Modskærsholder 23573070

8 Broncebøsning 23573080

9 Hus 23573090

10 Bolt M12x30 (10) 132612030

11 Låseskive M14 23573110

12 O-ring 23573120

13 Slidpladeindsats 23573130

14 Spændring - løbehjul 23573140

15 Not 8x7x45 23573150

16 Løbehjul 23573160

Pos. Varebetegnelse Varenr.

17 Fjeder 23573170

18 O-ring (Viton) 23573180

19 Mek.tætn. incl. pos. 17+18 23573190

20 Bolt M14x30 (4) 23573200

21 Låseskive 14 mm. (4) 23573210

22 Møtrik M14 (4) 132602114

23 Pumpehus 23573230

24 Prop 1/2“ 23573240

26 Tætning incl. pos. 25 23573250

27 O-ring 23573270

28 Dæksel 23573280

31 Simmerring 40x60x10 23573310

32 Sprøjtering 23573320

42 Bolt M10x20 (2) 132610020

43 Låseskive M10 (2) 132601010

44 Støttehus 23573440




